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Mr. Schlansky Geometry

Triangle Inequality Theorem

1. Which of the following cannot make up the three sides of a triangle?
D) 3,54 T 3y 97,5 S
2 t

) {2,2,3}9@)3 /@){6,1,4} Db %

2. Which of the following can make up the three sides of a triangle?
1) 242 0¥OY A8 8,16} Libds X
2) {1,7,4} l }(_,‘>'7 @5,5,7} §+§>7 /

3. Which numbers could represent the lengths of the sides of a triangle?
) 5914 siq3d X

2) 7715 ) S15 X

3) 124 105 X

G368 gi5g

4. Which of the following cannot make up the three sides of a triangle?
AA5,1,6} 14550 ¢ 3) {3,566} 34500 v~
2) {9,148 g1y D {7,104} (ydio

5. Which set of numbers represents the lengths of the sides of a triangle?
) {51813} SH3D|¥ A 3) {16,247} T+l x
@ (617,22} (HI Y00 - 4 {26815} gHs720

6. Which of the following cannot make up the three sides of a triangle?
1) {3,9,7} 3414 7 3) {8,12,15} GHIVIS 7
215 1597 x D O3 37759
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7.1n ABLA, BL=12 and AL =8. What is the range of possible values of BA?

PR S
Yy -8 Kx<20
20 4

8.In ACAM , CM =10 and CA=4. What is the range of possible values of MA?

o 10
SR TR
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9.In &ABE’_, AB =5 feet and BC = 3 feet. Which inequality represents all possible values for the
length of AC, in feet? 7 ,
1) 224C<3 s _% ALK
D2 <AC <8 3 2
3) 324C<7 & o
4) 3<4C<T

10. Two sides of a triangle are 7 and 11. The third side of the triangle can measure:
1)4

218 X 2 R
<~ g 9

11. Jacquie is building a triangular fence for her tomato garden. She has an eigx ht foot piece of
fence and a four foot piece of fence. Which can be the length of the third piece of fence?
1) 2 feet )‘;_ .| g %
2)5 feet " [
Dateot A 4 L SN
4) 12 feet X ] |

(]
12. In the diagram below of AABC, D is a point on 4B, AC' =7, AD =6,
and 5C = 18. The length of D3 could be 18
1) 5 }@-‘—“ 3) 19'-,(; =5 L/
@ 12ip=% [§ |F 4) 25+ =3\
‘)_"/\/ gl L A 6 b)
95/ \ l (l<>(< ;)_5 (Not drawn to scale)
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